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No EXF SEIESZFR R3.7H R2.108 R2.6H
1 |[hEEsEr - ZBIE 5cm FAIFIA 0.07 0.08 0.08
2 |EREERET - ZB3E 5cm FAIFIVN 0.06 0.07 0.06
3 |EStRAeERE - ZBIE 5cm FAIFIVE 0.05 0.05 0.05
4 |=rRREERE - ZBE 5cm FAIFIVN 0.04 0.05 0.04
5 |FESph R AeERE T - ZBIE 5cm FAIFIVE 0.07 0.06 0.06
6 |JLEptE ERE - ZBE 5cm FAIFIVN 0.06 0.05 0.06
7 |kmtEeERE T - ZBIE 5cm FAIFIVA 0.05 0.05 0.06
8 |arisErigs BEE 5cm FAIFIA 0.04 0.05 0.05
9 |armine: ®E 5cm 0.04 0.05 0.05
10 |1 ®E 5cm 0.05 0.06 0.05
11 [ KR ®E 5cm 0.05 0.05 0.07
12 [=rRver ®E 5cm 0.06 0.05 0.06
13 |FEe ®E 5cm 0.06 0.07 0.07
14 |&riEthses ®E 5cm 0.05 0.04 0.06
15 [AEshHE EFE 5cm * 0.06 0.05 0.06
16 |=rRupitE EFE 5cm * 0.06 0.06 0.06
17 |mssmm EFE 5cm * 0.05 0.04 0.05
18 | K@it EFE 5cm * 0.06 0.06 0.06
19 |erazEREmR BEE 5cm FAIFIA 0.04 0.04 0.04
20 | k@2 EREHR B 5cm PAI7Ib 0.06 0.06 0.07
21 [{tmpeEraEm B 5cm 0.04 0.05 0.04
22 |=rReEEER BE 5cm  FAI7Ib 0.04 0.04 0.04
23 |[FBETHEL Y- (BEZEEEFHE 5cm PAT7ILE 0.05 0.04 0.08
24 |2rIBREE EFE 5cm * 0.06 0.06 0.07
25 |[RAFFRER EFE 5cm * 0.06 0.06 0.06
26 |[FWESREE EFE 5cm * 0.06 0.05 0.04
= Sy o RESZEADO 5cm J1>JY—b 0.05 0.04 0.05
27 |THELEERIARESS [RESEAH®R 5cm 1Y2U—| 0.04 0.05 0.04




